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Q1. TF JTATATT Hd dIS I IRt &FA 3 For@m § 3l I8 &1 o' a9t T q9arg
T F ST &7 {1 FIAT 6 A FT TANT Fh 39 IS HT AR ATq HIoQ| I
Hohd FIS T TRATT 180 cm g, TT THHT SAHT F4T T2



Q2. FFEY wATEAET (flyover) F Brsgerra fame 1 fRAsma=t & forg y=mr fFFaT srar
g1 AT Y TS T AATAT 122 m, 22 m 3T 120 m § ERT sl 12.9)1 ==
rEmae & wia a 5000 T wfw m? i I AT 31 TF FFOAT ¥ TH KA F QA=A
< F forg 3 1= % o ferg o= o sa= o Reamr e = 2

gT:a=122m,b=22m3Tc=120m



Q3. Tt 9T & wF Thaer agt (slide) I g2 31 ST qUseiq AT (side walls) § &
T 9 9% FReT 1 & 92 foram 13T § Sk S 9 "9T6 T g-HLT 3K 976 e
foraT gam § | Ffe g fiae it AT 15m, 11m 3% 6m €, qF T & 92 §Q 00 7
ART AT FIST)



Q4. 39 A 1T &% ATq oy St &7 1T 18 em 3 10 cm § TAT ITHT
TRETT 42 cm g

g .
a=18cm,b=10cm 3T c =2
gRHTT =42 cm

atb+c=42



Jr 18+ 10+c=42
JT c=42-28

IJT c=14cm

Q5. TF TAsTer T S[SITSH &7 SIUTT 12: 17: 25 § i< ST&T IRATT 540em | 6 B
FT TR T HIST

g :

AT T a=12x, b= 17x T ¢ =25x & |
Ad:a+b+c=540cm

T 12x + 17x + 25x = 540

T 54x = 540



Q6. TF gHfgaTg B #T aRATT 30 om § 3T ITHT TG ST 12 om FFATS, T §
T8 B &1 e [T fifvra

gda .
fTarg:a=12emb=12cm3Tc="?

Ad:a+b+c=30cm



Iqr 12+ 12+c¢c=30cm

IJT ¢=30-24 cm

IqT c=6cm





